2et o
20.. The 3rap"\ O'F F lS,alVQV\,

(o) \/\/kco is £ one-to-ene? Becouse no horizontal line intersects
 the graph more thon once, f is cne-te-one.
_(b) What are the _domain. and_ range. . of £7'72 SIS I Y Ty

_domain of _\pﬁ,;rangc of £= [-1,31

_range of {7 demajn of £ [-3,3] gy

, (¢3 What is the value of £7(2)° }" T
_,,,,ﬁg,,,,,,dew"lniaLion 2, 7 @=x = :ﬁ[x) 2 As, 4’(0322,
 then 27(2)=0 -
(é\\ ESTL\ma+€, ’H\e Value -Fow —(’" [O) S
 férsiro. Se fUoym.75 I
26. Fmoq ‘H\e \Cor‘mu?a for the inverse op ﬂxc (mehon S

, Goal , s,,,,o,,f,,v,,e , at,,,or,,, X - ,,T,hf ,h,,,,,,,,r,e,_p,,),qc,,e ,,,,, X (JunLh ‘j ‘j wntﬁ\ X .
M,,eq,'}h,cgl, 1. Com ple{’e ‘H'se . s%uame

,,,«j—x2~x,_,, [~1+a2 - ;ET =41
i

{

p(

3 5 = C =)

) T
=x-%5 . As x2z = x- T&>/ 0. So

)-!)'“

._-

s
+
=1 )=

ﬂ ’

il
X

|
pl—

, M ea'”lool - Quadratic \[’o;,muulq o
O=x"-x -y [Mum[ Sch = Jro O 1Lo use. cxuoolmjr‘c Pov‘mulq], i

xSENESEN U GMEy)
, ,,77,,(,,,‘,) .

As x 2 7 = K +

&\"
Pl‘

R




[Thes € 1Lwo answeys . are . c%mivq.{,enf,,i o

3.2

1
I L

18. Find  the ,,,ex,p,onenﬁq.l, F)=Co*  whose 3mpl«__1'_s glven..

~Usin 9 (2, %) E=0 >

As o>D [Theorem 21 = $=a
S S, 6D 2G5

o, Differentiate the function: FH)=sinCe®) +°°

AR cos(et) Blen) + &ML E (s

Sin(‘t)

—

= cosle®) e + e

R .ch(,ﬁ;f'fcx_ . Then da=edx .
JUeeYerdx = J wldu = %ﬁ +C = C"‘*‘ex) +C

)

- che,('omtu.clem( pe———r T ,,,&ghm‘ﬂue, of ,,,c,qmp,,/tﬁ,,m,j .

, ‘ﬂ},e,, .s,%,sxqw,,,e Cwill  be zeen  in Hne Sec‘f ion  of ,,,frfig.,omom,,e]i re. .
En+ec3m'f ion. 1 what was done in proplem 26 feom 46t

 leoks ,u,nfami..,l_t',,ar,,,,,,_Io_,‘cq,s,,,e, vefresh ,cdomnse,hc, _en_ _This ,,,fed\i‘.%uiﬁ, o

_betore  then.

S 1F 4w - A + [ +¢



